





Republic of the Philippines

VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: PPMP-2025-040425-1086

Dept./Office: OVPAF

PR No.: STF-2025-05-00622

Date: 05-15-2025

Section/End-User: Jerimi Ann B. Satuita

Category: Office Equipment

Funding Source: Special Trust Fund - Capital

Project Title/Code: STF - ICT

Outlay

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	1TB, Hard disk Drive, 7200rpm, for desktop	piece	4	3,000.00	MOISES NEIL V. SERIÑO	12,000.00

Specification:

Capacity: 1TBSpeed: 7200 RPMInterface: SATA 6Gb/s

· Cache: 64MB

Average Data Rate: 156 MB/s (Read/Write)
 Max Sustained Data Rate: 210 MB/s (OD Read)

· Cache Type: Multisegmented

2	All-in-One Ink Tank Printer with ADF	piece	15	15,500.00	MOISES NEIL V. SERIÑO	232,500.00
3	Desktop Computer (i7), 11th Gen, 8GB RAM	unit	14	65,000.00	MOISES NEIL V. SERIÑO	910,000.00

Specification:

• Processor: Intel® Core™ i7-11700 or higher

• Chipset: Intel® H510 with ultra-durable capacitors

• Graphics: Intel® UHD Graphics 750

• Memory: At least 8GB Dual Channel, DDR4 at 3200MHz

Expansion Slots:

o 1 x M.2

o 2 x PCI-e x1

o 1 x PCI-e x16

• SATA: 4 x SATA 6Gb/s

• Storage: At least 250GB M.2 SSD

. Operating System: Genuine Windows 10 Home

• Power Supply: At least 500W Peak with ATX case

• Monitor: 24" LED IPS Full HD

Keyboard and Mouse

1	HDMI to HDMI cable, 2M	piece	17	250.00	MOISES NEIL V. SERIÑO	4,250.00

Specification:

· Length: 2 meters

• Resolution: Supports 4K at 60Hz, 4K at 30Hz, and 1080P at 60Hz

Version: HDMI 2.0

· Connectors: HDMI male

. Connector Plating: Gold plated

· Cable Jacket: PVC

5	Ink, Epson 003,Genuine Black 65mL	btI	5	350.00	MOISES NEIL V. SERIÑO	1,750.00
6	Laptop 14" (i5)	unit	13	49,500.00	MOISES NEIL V. SERIÑO	643,500.00

Specification:

• Processor: Intel Core i5-1035G1, 1.0 GHz, 6M Cache, up to 3.60 GHz

• Operating System: Windows 10 Home

• Memory: 4GB RAM, 1 x SO-DIMM socket (for expansion)

• Display: 14.0" (16:9) LED-backlit FHD (1920x1080), 60Hz, Anti-Glare Panel, 45% NTSC

• Video Processor: NVIDIA GeForce MX330, 2GB GDDR5 VRAM

• Storage: 512GB PCle Gen3 x2 SSD

7	LOD De de de CLOD Te de de de	200214	_	20,000,00	MONES NEW VICENSE	400,000,00
/	LCD Projector, 3LCD Technology	unit	б	30,000.00	MOISES NEIL V. SERIÑO	180,000.00

Specification:

Projection System Technology:

• Type: RGB Liquid Crystal Shutter Projection System (3LCD), 3-chip technology

Light Output:

- White Light Output (Normal/Eco): 3,600 lm
- Colour Light Output: 3,600 lm

Resolution:

- Native Resolution: XGA (1024 x 768)
- . Aspect Ratio: 4:3

LCD Panel:

• Size: 0.55" (C2fine)

Light Source:

- Type: 210W UHE
- Life (Normal / Eco): 6,000 / 12,000 hours

Inputs:

- Analog Input: D-Sub 15pin (1)
- Digital Input: HDMI (1)

USB Interface:

• Type: USB Type B (1) - For Firmware Update, Copy OSD Settings

8	Wireless Mouse	pcs	32	500.00	MOISES NEIL V. SERIÑO	16,000.00
	Specification:					

- Wireless Technology: 2.4 GHz
- · Rechargeable: Yes
- Connector Type: USB Type-C
- · Battery: Built-in rechargeable battery
- . Connectivity: Wireless with USB receiver and/or Type-C charging
- Additional Features: Likely includes adjustable DPI, ergonomic design, and customizable buttons (common in this type of mouse)

	TOTAL	2,000,000.00
Purpose: ICT for	Academic use	
Checked by:	NORMAN O. VILLA	Funds Available:
	TWG - Office Equipme	t HEAD, BUDGET OFFICE

Signature:
Printed Name:
Designation:

Prepared by:

Noted by:

PROSE IVY G. YEPES

UNIT HEAD, PROJECT LEADER

PRESIDENT, VSU